Kansas Corporation Commission Oil & Gas Conservation Division

ORIGINAL Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 30717	API No. 15 - 195-22,368-00-00				
Name: DOWNING-NELSON OIL COMPANY, INC	County: TREGO				
Address: PO BOX 372	SE Sec. 22 Twp. 14 S. R. 21 ☐ East ♥ West				
City/State/Zip: HAYS, KS 67601	1690 feet from \$\int \] / N (circle one) Line of Section				
Purchaser:	1890 feet from E / W (circle one) Line of Section				
Operator Contact Person: RON NELSON	Footages Calculated from Nearest Outside Section Corner:				
Phone: (785) 621-2610	(circle one) NE (SE) NW SW				
Contractor: Name: DISCOVERY DRILLING CO., INC.	Lease Name: COLBERG Well #: 1-22				
License: 31548	Field Name: WILDCAT				
Wellsite Geologist: ALAN DOWNING	Producing Formation: NONE				
Designate Type of Completion:	Elevation: Ground: 2159 Kelly Bushing: 2167				
New Well Re-Entry Workover	Total Depth: 4013 Plug Back Total Depth:				
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 223.01 Feet				
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?				
Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet				
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from				
Operator:	feet depth tow/sx_cmt.				
Well Name:	PA -DIQ - II - I3-6				
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)				
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 14,000 ppm Fluid volume 300 bbls				
Plug BackPlug Back Total Depth	Dewatering method used_EVAPORATION				
Commingled Docket No.	Location of fluid disposal if hauled offsite:				
Dual Completion Docket No					
Other (SWD or Enhr.?) Docket No	Operator Name:				
07/01/06 07/09/06 07/10/06	Lease Name: License No.:				
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R East West				
Recompletion Date Recompletion Date	County: Docket No.:				
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.				
All requirements of the statutes, rules and regulations promulgated to regul	ate the oil and gas industry have been fully complied with and the statements				
herein are complete and correct to the best of the knowledge.					
Signature: Ha DWM	KCC Office Use ONLY				
Title: VICE PRESIDENT Date 7/21/06	Letter of Confidentiality Received				
	If Denied, Yes Date:				
Subscribed and sworn to before me this dlay of	Wireline Log Received RECEIVED				
20.06	Surface st Report Received				
Notary Public! Mehele h Weler	MICHELE L. MEIERIC Distribution				
Date Commission Expires: 7/28/09	STATE OF KANSAS WARDER TO THE TAX STATE OF THE TAX STATE				
Date Commission Expires.	My Acct Exc 7/26/7/4				

Operator Name: DOV	VNING-NELSON	OIL CO	MPANY, INC	Lease	Name:	COLBERG		Well #;	2
Sec. 22 Twp. 14				County	TREC	90			NOTES AND
INSTRUCTIONS: Shot tested, time tool open temperature, fluid reco	and closed, flowing every, and flow rate	g and shut s if gas to	-in pressures, surface test, a	whether sh long with fi	ut-in pre	essure reached	static level, hydr	ostatic pressur	es, bottom hole
Drill Stem Tests Taken (Altach Additional S		✓ Ye	es 🗌 No		⊘ L	.og Formati	on (Top), Depth	and Datum	Sample
Samples Sent to Geological Survey		es 🔽 No		Name TOP ANHYDRIT		Тор 1508		Datum +659	
Cores Taken					BASE ANHYDRITE			1550	+617
Electric Log Run		✓ Ye				EKA	_	3208	-1041
(Submit Copy)					HEE	BNER		3460	-1293
List All E. Logs Run:					TOF	RONTO		3480	-1313
Compensated	Density, Son	ic. Micr	o and Due	əl	LKC	;		3498	-1331
Induction		,			ВКС	;		3746	-1579
					MAF	RMATON		3836	-1669
		Pana		RECORD	√ N	ew Used ermediate, produc	tion ata		
Durana of String	Size Hole	·	e Casing	Weig		Setting	Type of	# Sacks	Type and Percent
Purpose of String	Drilled	Set	(In O.D.)	Lbs. /		Depth	Cement	Used	Additives
SURFACE	12 1/4"	8 5/8"		20	······································	223.01	COMMON	150	2% Gel & 3% CC
									and the state of t
Purpose:	Depth	Tuna		CEMENTIN #Sacks		UEEZE RECORE		Paraant Additiva	
Perforate	Top Bottom	Type of Cement #S			Used Type and Percent Additives			•	
Protect Casing Plug Back TD Plug Off Zone					······································				
						T			
Shots Per Foot	oot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated			Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used) Depth					
TUBING RECORD	Size	Set At		Packer A	t	Liner Run	Yes No)	
Date of First, Resumerd	Production, SWD or E	inhr.	Producing Met	hod	Flowin	Ig ∏Pumpi	ng GasL	ift \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat			Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF (COMPLETIC	DN .	<u> </u>		Production Inte	rval		
Vented Sold	Used on Lease		Open Hole	Perf.		Dually Comp.	Commingled _		

Allied Cementing Co., Inc. P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 103450

Invoice Date: 07/19/06

Sold Downing Nelson Oil Co.Inc

P. O, . Box 372 Hays, KS To:

67601

Cust I.D....: Down

P.O. Number..: Colberg 1-22

P.O. Date....: 07/19/06

Due Date.: 08/18/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	129.00	SKS	10.6500	1373.85	Т
Pozmix	86.00	SKS	5.8000	498.80	T
Gel	11.00	SKS	16.6500	183.15	т Т
FloSeal	54.00	LBS	2.0000	108.00	T
Handling	226.00	SKS	1.9000	429.40	Ϋ́
Mileage	50.00	MILE	18.0800	904.00	T
226 sks @.08 per	r sk per mi			504.00	1
Pump Truck	1.00	JOB	955.0000	955.00	Т
Mileage pmp trk	50.00	MILE	5.0000	250.00	T
Wood Plug	1.00	EACH	35.0000	35.00	T
All Prices Are Net, Payable 30 Days Following Subtotal:					
Date of Invoice. 1 1/2% Charged Thereafter.		r. Tax	Σ . :	4737.20 274.76	
If Account CURRENT take Discount of \$ 473.72 ONLY if paid within 30 days from Invoice Date			ments:	0.00	
			:al:	5011.96	

RECEIVED JUL 2 4 2006 KCC WICHITA 'Allied Cementing Co., Inc P.O. Box 31

Russell, KS 67665

INVOICE

Invoice Number: 103374

Invoice Date: 07/13/06

Sold Downing Nelson Oil Co.Inc

P. O, . Box 372

Hays, KS 67601

Cust I.D....: Down

P.O. Number..: Colberg 1-22 P.O. Date...: 07/13/06

Due Date.: 08/12/06 Terms...: Net 30

Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	150.00	SKS	10.6500	1597.50	Т
Gel	3.00	SKS	16.6500	49.95	
Chloride	5.00	SKS	46.6000	233.00	_
Handling	158.00	SKS	1.9000	300.20	_
Mileage	50.00	MILE	12.6400	632.00	
158 sks @.08 pe	r sk per mi			032.00	-
Surface	1.00	JOB	815.0000	815.00	E
Mileage pmp trk	50.00	MILE	5.0000	250.00	_
777 Designan 7 27-			_		
All Prices Are Ne	t, Payable 30 Days Fo	llowing Sub	total:	3877.65	
Date of Invoice.	l 1/2% Charged Therea	iter. Tax		99.66	
If Account CURRENT take Discount of \$ 382.76		<i>382.06</i> Payı	ments:	0.00	

ONLY if paid within 30 days from Invoice Date Total...:

3977.31

RECEIVED JUL 2 4 2006 KCC WICHITA